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Solve the Laplace’s equation Fa + —( with boundary conditions as shown. [10557[[[{#%
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T| =T cos——+T, cos2t
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ERIET X+ 02X = 0,Y" )Y =0
HB RELET 8, y) = 0, aTg; Y _

X A 2 AT X = C, cosAx + C, sin Ax

X(@)=0=C,cosha+C,sinra=0 on—1
, =C,=0,cosha=0=>7a= T
X'0)=0=>CA=0

2n-1

0= X(a)=0, X'(0)=0

KFFEUER, =

Y By 5 Ay =D e + E e
S FUEET(X,00=0=>Y(0)=0=> D, +E,=0=E, =-D,
Y =2D, sinh(),y) = F, sinh()y)

= X, =COSA,X

T(X, y) =Y F,cosh, xsinh(A,y)
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BB HIBREET (X, b) =T, cos% +T, cosz—T;ﬁ/\ ) 15
T, cos% +T, cos? = Z F,cosA Xsinh()b)
F, sinh(A,b) =T,, F, sinh(A,b) =T,, EAHIF, =0

T(x, y)= T cos 37X sinh 31y + T cos 7 sinh Tmy
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